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Armacao positiva da escada E1
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RELAGAO DO AGO

LE1 3xP1 P4
22xP5 3xP10 VIl
VI2 VI3 Vi4
VIS5 V16 VI7
VI8 VI9 VI10
Vi1l VI12 VI13
Vi1l4
ACO N DIAM | QUANT | C.UNIT | C.TOTAL
(mm) (cm) (cm)
CA60 1 5.0 72 73 5256
2 5.0 42 77 3234
3 5.0 1219 87 106053
4 5.0 60 24 1440
5 5.0 18 83 1494
CA50 6 6.3 1 67 67
7 6.3 2 71 142
8 8.0 2 674 1348
9 8.0 2 696 1392
10 8.0 2 229 458
11 8.0 1 222 222
12 8.0 2 1127 2254
13 8.0 2 357 714
14 8.0 1 435 435
15 8.0 1 425 425
16 8.0 1 230 230
17 8.0 1 517 517
18 8.0 1 812 812
19 8.0 2 1200 2400
20 8.0 2 353 706
21 8.0 2 1044 2088
22 8.0 2 391 782
23 8.0 2 1198 2396
24 8.0 2 256 512
25 8.0 2 1052 2104
26 8.0 2 384 768
27 8.0 1 830 830
28 8.0 2 1198 2396
29 8.0 2 268 536
30 10.0 22 663 14586
31 10.0 24 109 2616
32 10.0 2 1060 2120
33 10.0 2 400 800
34 10.0 2 1198 2396
35 10.0 2 268 536
36 10.0 4 373 1492
37 10.0 4 373 1492
38 10.0 6 345 2070
39 10.0 1 172 172
40 10.0 2 359 718
41 10.0 2 369 738
42 10.0 2 351 702
43 125 122 342 41724
44 125 2 1129 2258
45 125 2 400 800
46 125 1 255 255
47 125 1 1020 1020
48 125 1 146 146
49 125 2 1197 2394
50 125 2 446 892
51 125 2 1188 2376
52 125 2 418 836
53 125 4 1141 4564
54 125 4 372 1488
55 125 1 235 235
56 125 1 582 582
57 125 2 1197 2394
58 125 2 418 836
59 16.0 2 1196 2392
60 16.0 2 441 882
61 16.0 2 1196 2392
62 16.0 2 221 442
RESUMO DO ACO
ACO DIAM C.TOTAL | PESO + 10%
(mm) (m) (kg)
CA50 6.3 2.1 0.6
8.0 243.3 105.6
10.0 304.4 206.4
125 628 665.5
16.0 61.1 106
CA60 5.0 1174.8 199.2
PESO TOTAL
(kg)
CA50 1084.1
CA60 199.2

Volume de concreto (C-30) = 24.06 m*
Area de forma = 217.97 m?
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